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QUESTION 1

Which statements aretrue for OCI GoldenGate Service? (Choose two.) 

A. It requires any source environment to run Oracle GoldenGate Microservices. 

B. It is customer-managed. 

C. It requires an on-premises license for the Oracle GoldenGate software. 

D. It supports the usage of Universal Credits. 

Correct Answer: AD 

 

QUESTION 2

Which THREE methods can be used to migrate an on-premises Oracle Database to Oracle Autonomous Database?
(Choose all correct answers) 

A. Data Pump Export/lmport 

B. EnterpriseManager 

C. Oracle Zero Downtime Migration 

D. Data Guard 

E. PDB Unplugging/Plugging 

Correct Answer: ABC 

 

QUESTION 3

Which type of checks is NOT supported by Oracle Data Integrator (ODI)? 

A. conditions 

B. keys 

C. references 

D. mandatory attributes 

E. business rule 

Correct Answer: E 

 

QUESTION 4
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Which supported platform can the source Oracle Database be running on when migrating with Oracle Zero Downtime
Migration? 

A. aix 

B. windows 

C. Linux x86-64 

D. Solaris 

Correct Answer: C 

 

QUESTION 5

In which database edition does Data Pump supportparallelism? 

A. Both Standard Edition and Enterprise Edition 

B. Enterprise Edition only 

C. Standard Edition only 

D. Data Pump does not support parallelism. 

Correct Answer: B 

 

QUESTION 6

Which Oracle Database Cloud Service takes care of all routine database tasks ensuring higher performance, reliability,
security, and operational efficiency? 

A. Oracle Exadata 

B. Oracle 19c 

C. Oracle MySQL Cloud Service 

D. Oracle Autonomous Database 

Correct Answer: D 

 

QUESTION 7

What are the constraints of using transportable tablespaces? (Choose two.) 

A. The source and target database versions must match. 

B. Thesource and target time zone versions must match. 

C. The source and target platforms must match. 
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D. The source and target character sets must match. 

Correct Answer: BD 

 

QUESTION 8

Oracle Zero Downtime Migration (ZDM) uses MySQL internally, configuring on a default port number. What will ZDM
proceed to, if a port number is not specified and the default is not available? 

A. Assign a random port number. 

B. Increase the default port number by one and retry five times. 

C. Request a valid port number 

D. Exit the installation with an error message. 

Correct Answer: B 

 

QUESTION 9

If unplug and plug was decided to be used as the tool for the migration to Oracle Cloud Infrastructure(OCD), which two
constraints are part of this migration to process for using unplug and plug? (Choose all correct answers) 

A. Target must be an Autonomous database. 

B. Target and source have same Endianness. 

C. Source must be Little-endian. 

D. Source andtarget need to be container database (CDB). 

Correct Answer: BD 

 

QUESTION 10

What is the managed chatbot service of Oracle Cloud called? 

A. Digital Bot 

B. Digital Integration 

C. Digital Support 

D. Digital Assistant 

Correct Answer: D 

 

QUESTION 11
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Which file types can be imported using SQL Developer Web? 

A. All of the options 

B. Excel 

C. AVRO 

D. CSV Delimited 

E. JSPN 

Correct Answer: A 

 

QUESTION 12

You need to migrate your on-premises 12cNon CDB to Cloud 12c. Which migration methods can you use? (Choose
two.) 

A. Conventional Data Pump Export and Import 

B. Transportable Databases 

C. Transportable Tablespaces 

D. Conventional RMAN Backup and Recovery 

Correct Answer: AC 

 

QUESTION 13

When integrating data from multiple sourcesinto a Data Warehouse schema, you want to check a length constraint that
you have imposed on one of the target columns before the rows arrive in the target table. All the rows that do not pass
this quality check will have to be isolated in error tables. For this, you have chosen an Integration Knowledge Module
(IKM) that supports flow control. You have also chosen the value raue for this parameter to enable this check. At
compile time, you see that Oracle Data Integrator (ODI) throws an error and the execution cannot start. What is the
reason? 

A. Primary key was not defined on the target table. 

B. The Check Knowledge Module was not set in the physical design. 

C. The integration type was not set in the logical design. 

D. There were no rows compliant with imposed constraint. 

Correct Answer: B 

 

QUESTION 14

Which TWO methods should you use when migrating a target database with different endianness than the source
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database? (Choose all correct answers) 

A. RMAN DUPLICATE 

B. RMAN Transportable Tablespaces with Data Pump 

C. RMAN CONVERT D. RMAN RESTORE from target 

Correct Answer: BD 

 

QUESTION 15

Which TWO methods are supported by Oracle Zero Downtime Migration (ZDM) for migrating onpremises databases to
Autonomous Database? (Choose all correct answers) 

A. Logical online or offline migration using a database link 

B. Logical online or offline migration using OCI Object Storage 

C. Physical online or offline migration using OCI Object Storage 

D. Physical online or offline migration using a database link 

Correct Answer: AB 
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